
5581 5581.5 5582 5582.5 5583
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6129

6129.5

6130

6130.5

6131

6131.5

6132

6132.5

6133

ru
n

run:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

77−

76.5−

76−

75.5−

75−

us
l_

1X
usl_1X:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

44.5

45

45.5

46

46.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

40.5−

40−

39.5−

39−

38.5−

us
l_

12
X

usl_12X:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6129

6129.5

6130

6130.5

6131

6131.5

6132

6132.5

6133

ru
n

run:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

133−

132.5−

132−

131.5−

131−us
r_

1X

usr_1X:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

226

226.5

227

227.5

228

us
r_

4e
X

usr_4eX:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

16

16.5

17

17.5

18

us
r_

4e
Y

usr_4eY:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

45.5−

45−

44.5−

44−

43.5−

us
r_

12
X

usr_12X:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6129

6129.5

6130

6130.5

6131

6131.5

6132

6132.5

6133

ru
n

run:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

18476.6

18476.8

18477

18477.2

18477.4

18477.6

18477.8

18478

18478.2

18478.4

18478.6

18478.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

3036

3036.5

3037

3037.5

3038

us
l_

co
il3

usl_coil3:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

4893.6

4893.8

4894

4894.2

4894.4

4894.6

4894.8

4895

4895.2

4895.4

4895.6

4895.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6017

6017.5

6018

6018.5

6019

us
l_

co
il7

usl_coil7:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6129

6129.5

6130

6130.5

6131

6131.5

6132

6132.5

6133

ru
n

run:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

15968−

15967.5−

15967−

15966.5−

15966−

us
r_

co
il1

usr_coil1:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

2559−

2558.5−

2558−

2557.5−

2557−us
r_

co
il3

usr_coil3:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

5071

5071.2

5071.4

5071.6

5071.8

5072

5072.2

5072.4

5072.6

5072.8

5073

5073.2

us
r_

co
il4

usr_coil4:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

161.5−

161−

160.5−

160−

159.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

34440.5

34441

34441.5

34442

34442.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6129

6129.5

6130

6130.5

6131

6131.5

6132

6132.5

6133

ru
n

run:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

292.5−

292−

291.5−

291−

290.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

20.5−

20−

19.5−

19−

18.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

325.6

325.8

326

326.2

326.4

326.6

326.8

327

327.2

327.4

327.6

327.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

287−

286.5−

286−

285.5−

285−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

40−

39.5−

39−

38.5−

38−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

241.5

242

242.5

243

243.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

201.5

202

202.5

203

203.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

65

65.5

66

66.5

67

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

19.5−

19−

18.5−

18−

17.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

212.5

213

213.5

214

214.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

17.5−

17−

16.5−

16−

15.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6131}



5581 5581.5 5582 5582.5 5583
cyclenum

234.5−

234−

233.5−

233−

232.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

83−

82.5−

82−

81.5−

81−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

4.5−

4−

3.5−

3−

2.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

513−

512.5−

512−

511.5−

511−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6131}

5581 5581.5 5582 5582.5 5583
cyclenum

6129

6129.5

6130

6130.5

6131

6131.5

6132

6132.5

6133

ru
n

run:cyclenum {run == 6131}
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